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TOURISM ADMINISTRATION AND MANAGEMENT
Paper II
Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— This paper contains fifty (50) multiple choice questions, each question carries

two (2) marks. Attempt All of them.

£ Which of the following are to be regarded as tourists according to the

recommendations of the World Tourism Organization ?

(A) Teacher visited a town for a day to deliver lecture on Tourism.

destinations

(B) Physicians serving in the armed forces travel between their country of

origin and duty station
(C) Air crews staying over-night at the destination

(D) Students travelling between their home and institution at the beginning

of each term
2. The term ‘health tourism’ is concerned with :
(A) treatment of travel related diseases
(B) wvisits to health resorts and establishments
(C) visits to medical institutions

(D) wvisits to hospitals, dispensaries
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3. - Which of the following statements is false ?

In comparison with international tourism, in many countries domestic

tourism is :
(A) much larger . (B) growing faster
(C) less regulated (D) better documented
4. The term ‘heritage and cultural tourism’ means trips and visits :

(A) Concerned with investment of capital

(B) To participate in a trade fair

(C) With a purpose to visit historical monuments and to enjoy camel safari
(D) To sell the books on cultural tourism

5. In the ensuing meeting of UNESCO committee on world heritage sites, the
proposal of Himachal Pradesh to declare GHNP as world heritage site was

rejected with a suggestion :
(A) To improve eco-condition of the area
(B) Area is non-sufficient as required for the heritage park

(C) In the existing park area two more sanctuaries i.e. Tirthan and Sainj

should be merged
(D) To send proposal through proper channel
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6. Which of the following étatements with regard to Indian railways is

correct ?
(A) It is a commercial organisation
(B) It is a public utility service
(C) It is a private enterprise
(D) Only (A) and (B)
% ‘Sagar Samrat’ is the name of India’s first :
(A) Merchant ship
(B) Cargo ship
(C) Mobile off-shore drilling platform
(D) Naval ship built in the country
8. Duncan Passage lies between :
(A) South Andaman and Little Andaman
(B) South and Middle Andaman Islands
(C) North and Middle Andaman Islands |
(D) North and South Andaman Islands
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0. The state with the largest coast line is :

(A) Andhra Pradesh

(C) Maharashtra

(B) Tamil Nadu

(D) Gujarat

10.  The following is List I, which gives the term particular to a particular mode

of travel. Besides this List is List II, which gives the modes of travel in which,

the term of List I is used. Match List I and List II using the codes given

below :

List I

(a) Oceanview Slateroom

(b) Transit Flight

(¢) 3-Tier AC

(d) Return Fare

Codes :

(a)
A) 1)
(B) (4)
(C) Q)

D) 3

T.B.C. : 49/13/ET
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(1)
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List II

Taxi

Train

Sea Cruise

Aircraft
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o s &8 The first bus service between India and Pakistan was started on :
(A) July 11, 2003 (B) July 9,‘ 2003
(C) July 1, 2003 (D) August 14, 2003

12.  The National Institute of Aviation Management and Research is managed

by the :
(A) DGCA (B) AAI
(C) ICAO : (D) WTO

13. The terminal point of NH-1 is :
(A) Amritsar (B) Peshawar
(C) Atari | - (D) Dindigul

14.  The correct sequential order in which one would cross the given rivers while

travelling from Bengaluru to Delhi is :

(A) Godavari, Krishna, Kaveri, Yamuna, Chambal
(B) Kaveri, Chambal, Godavari, Narmada, Yamuna
(C) Krishna, Godavari, Narmada, Chambal, Yamuna

(D) Narmada, Kaveri, Godavari, Tapti, Yamuna
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15.

16.

17.

18.

Which national is not given “Visa-on-arrival” in India ?

" (A) Singapore (B) Thailand

(C) Japan _ : (D) New Zealand

Biggest natural threat to touri:sm is from :

(A) Ozone Depletion (B) Global Warming

(C) Loss of Biodiversity (D) Both (A) and (B)
Green Tourism is :

(A) Agro Touris;ﬁ (B) Rural Tourism

(C) Eco-Tourism (D) Pollutiém Free Tourism
Maghréb countries are in :

(A) Arabian Peninsula

(B) South-East Asia

(C) North Africa

(D) Some of CIS countries constitute Maghreb
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19. Andaman and Nicobar are :

(A) Coral Islands (B) Atolls

(C) Lagoons (D) Volcanic Islandsl
20. Which river passes through the Jaldapara wildlife sanctua?y ?

(A) Hugli : (B) Lohit

(C) Tapti (D) Torsa
21. The literal meaning of ‘Himachal’ is :

(A) Land of snow g (B) Home of lap of snow

(C) In the lap oft Himalaya . (D) Lap of snow Goddess
22. The senior waitress is also called :

(A) Demi Chef (B) Commis de Rang

(C) Station Head Waitress (D) Assistant Wine Waitress
23. Scanty baggage is concémed with :

(A) Scanned baggage |

(B) Too less baggage or no baggage

(C) Exéess baggage

(D.)' Objectionable baggage
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24. ‘Cabana’ means :
(A) Studio room
(B) Twin room
(C) Triple room
(D) Roolm attached to the swimming pool side for changing or resting

25.  American Plan, European Plan, Modified American Plan and Continental Plan

are the :
(A) Packages developed by tour operators
(B) Room tariff packages developed by hoteliers
(C) Food and .transport package developed by travel agents
(D) Trave.l' package developed by airlines
26.  Identify an International franchise hotel chain :
(A) Taj Group (B) ITC Welcome group
(C) Marriot (D) Lemon tree
27. ‘Table d'Hote’ is a term related to :
(A) Varied buffet services
(B) Fixed no. of items in a menu
(C) Choice of items in a menu

(D) Options for guest to prepare their own menu
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28. ‘DND’ is a sign to indicate :
(A) Do Not Disturb (B) Door to Door
(C) Double Income no Kids - (D) Do apd Done
29. The ﬁr;t Oberoi hotel was l’c;cabed at :
(A) Kolkata ) ~ (B) Shimla
(C) Mumbai i (D) I;Iainital

30.  Which room is located on the top most level of the hotel and opens to the

roof ? b
" (A) Efficiency (B) Penthouse
(C) Suite (D) Hospitality suite

31.  Which of the following pairs is not correct ?

(A) Sher Mandal — Humayun’s death
(B) Chittor Gar;l —  Berach river

(C) Anarkali Bazar A —  Qutubuddin Aibak
(D) Vaishali | —  Porus
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'32. The sangam literature is found in a number of anthologies. These

anthologies are :
(A) 5 in numbers _ (B) 7 in numbers
(C) 8 in numbers ! (D) 10 in numbers
33.. The title “Incredible India” is the brain child of :
(A) Arabs (B) Great Britain
(C) Latin America (D) Greece
34. Which was the port town of Indus Valley Civilization ?
(A) Banawali , (B) Lothal
(C) Ropar | (D) Harappa
35.  The original Pipal Tree at Bodh Gaya is said to have destroyed by :
(A) Pushyamitra Sunga (B) Mihirakula
| (C) Sasanka (D) Ajatashatru

36.  Which place in ‘Western India has the largest Buddhist establishments as

many as 125 caves ?
(A) Kanheri (B) Junnar

(C) Karle - (D) Ajanta

T.B.C. : 49/13/ET 20
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37. Step wells constructed during medieval period in India are named :
(A) Johad | J (B) Pokhar
(C) Baoli (D) Kua
38. Very high degree of correiation between two variables :
(A) Does not neces.sarily indicate cause and effect relationship between them
(B) Necessarily indicate cause and effect relationship. between them
(C) Both (A) and (B) are correct
(D) Both (A) and ('B) are incorrect
39. The graphic method of studying Dispersion is termed as :
(A) Regression curve (B) Dispersion curve
(C) Lorenz curve (D) Lenzer curve
40. Merit of standard deviations :
(A) Uses all types of data
(B) Has application in Sampling Theory

(C) Helps in comparing thévériability of two sets of observation and tests

the significance of various statistical measures of random sampling

(D) All of the above
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41.

42.

43.

44.

45.

Combined standard deviation can be computed from Standard Deviation

of :

(A) Number of groups (B) Number of series

(C) ‘Number of ranks (D) Number of variance

The small firms in the market that corner little share in the market are :
(A) Market followers (B) Niches

(C) Market challengers (D) Market slowers

The strategies to destabilize the existing equilibrium in the market inroads

are called :
(A) Disequilibrium strategies (B) Destabilizing strategies
(C) Disinvestment strategies (D) Attack strategies

Exchange value of product or service expressed in monetary terms in

marketing is called :

(A) Money (B) Price

(C) Cost (D) Repo rate

In the product concept the emphasis is on producing of :.

(A) High quality goods

(B) Large volume of goods without giving any consideration to quality
(C) The product with the best possible features

(D) Such goods and services as do not harm the ecology and environment

TB.C. : 4913/ET 24
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47.

. ¥ 48.

49.

50.

The main objective of Market segmentation is :
(A) Identification of Customers (B) Grouping of Customers
(C) Grouping of producer (D) Grouping manufacturers

An airline is buying a cruise line. What is the type of expansion of this product

line ?
(A) Vertical (B) Horizontal
(C) Both (A) and (B) (D) None of (A) or (B)

‘Wazwan’ is a term’ relate;i to the Cuisine of which state ?

(A) West Bengal (B) Kashmir

(C) Rajasthan (D) Kerala

Which among the following is the oldest classical dance form of India ?
(A) Mohiniattam (B) Kalbelia

(C) Kathak | (D) Bhafatnattyam

Dennis Tito is the first space tourist of the World. Who is the first prospect

space Tourist of India ?
(A) Santosh George Kulangara  (B) Rakesh George Kulangara

(C). Bahman George Kulangara (D) Abhimanu George Kulangara
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